

ABC Bid Data

EPPING-EXETER 41790 X-A004(851)

В

\$6,094,536.29

PROJECT:	EPPING-EXETER	Awarded To:				
STATE PROJECT NUMBER:	41790					
FED. PROJECT NUMBER:	X-A004(851)					
DATE BIDS OPEN:	September 26, 2019,					
SCOPE OF WORK:	Pavement preservation from MM 115.2 to MM 124.6 including ramps from Exit 6 through Exit 9	Amount:	\$0.00	Certified by:	Director of Project Development	
COMPLETION DATE:	September 11, 2020	Award Date:				
LOCATION:	Rockingham					
	Summary of Bi	dders				
Contractor					Bid Amount	Rank
PIKE INDUSTRIES, IN	С.				\$6,009,100.60	A
3 EASTGATE PARK	K ROAD, BELMONT NH 03220					

BROX INDUSTRIES, INC.

1471 METHUEN STREET, DRACUT MA 01826

				PS&E		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		BROX INDUSTRIES, INC. 1471 METHUEN STREET DRACUT, MA 01826	
Item No	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total

Items

202.6	CURB REMOVAL FOR SALVAGE	LF	65.00	\$12.00	\$780.00	\$35.00	\$2,275.00	\$30.00	\$1,950.00
202.7	REMOVAL OF GUARDRAIL	LF	16,495.50	\$2.90	\$47,836.95	\$3.25	\$53,610.38	\$5.00	\$82,477.50
203.5561	EAGRT PLATFORM PREFERRED	U	17.00	\$1,000.00	\$17,000.00	\$2,000.00	\$34,000.00	\$1,800.00	\$30,600.00
206.1	COMMON STRUCTURE EXCAVATION	СҮ	6.20	\$450.00	\$2,790.00	\$550.00	\$3,410.00	\$400.00	\$2,480.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	655.70	\$35.00	\$22,949.50	\$40.00	\$26,228.00	\$60.00	\$39,342.00
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	3,144.10	\$84.00	\$264,104.40	\$125.00	\$393,012.50	\$115.00	\$361,571.50
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	1,445.60	\$84.00	\$121,430.40	\$115.00	\$166,244.00	\$95.00	\$137,332.00
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	6.30	\$190.00	\$1,197.00	\$250.00	\$1,575.00	\$250.00	\$1,575.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	21,587.50	\$1.30	\$28,063.75	\$3.50	\$75,556.25	\$2.50	\$53,968.75
403.6	PAVEMENT JOINT ADHESIVE	LF	51,504.00	\$0.30	\$15,451.20	\$0.24	\$12,360.96	\$0.50	\$25,752.00
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	2,594.00	\$4.50	\$11,673.00	\$7.00	\$18,158.00	\$8.00	\$20,752.00
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	20,926.00	\$4.25	\$88,935.50	\$4.25	\$88,935.50	\$4.25	\$88,935.50
410.753	COVER AGGREGATE	TON	46.20	\$1,650.00	\$76,230.00	\$2,000.00	\$92,400.00	\$1,850.00	\$85,470.00
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	54,709.00	\$2.05	\$112,153.45	\$2.10	\$114,888.90	\$2.10	\$114,888.90
417.	COLD PLANING BITUMINOUS SURFACES	SY	36,532.00	\$2.75	\$100,463.00	\$4.00	\$146,128.00	\$5.00	\$182,660.00
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	179,796.00	\$1.20	\$215,755.20	\$0.95	\$170,806.20	\$1.75	\$314,643.00
417.54	REMOVE AND INLAY LONGITUDINAL CRACKS	LF	5,280.00	\$3.75	\$19,800.00	\$11.00	\$58,080.00	\$6.00	\$31,680.00
419.13	BONDED WEARING COURSE, TYPE C	TON	17,661.50	\$127.00	\$2,243,010.50	\$136.00	\$2,401,964.00	\$135.00	\$2,384,302.50
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	172.00	\$110.00	\$18,920.00	\$115.00	\$19,780.00	\$112.25	\$19,307.00
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	495.00	\$123.00	\$60,885.00	\$130.00	\$64,350.00	\$128.75	\$63,731.25
604.0007	POLYETHYLENE LINER	EA	59.00	\$130.00	\$7,670.00	\$125.00	\$7,375.00	\$150.00	\$8,850.00
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	59.00	\$370.00	\$21,830.00	\$525.00	\$30,975.00	\$500.00	\$29,500.00
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	875.00	\$15.00	\$13,125.00	\$12.50	\$10,937.50	\$12.50	\$10,937.50
606.014	6"X8" WOOD POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	141.00	\$95.00	\$13,395.00	\$85.00	\$11,985.00	\$85.00	\$11,985.00
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	141.00	\$25.00	\$3,525.00	\$15.00	\$2,115.00	\$15.00	\$2,115.00
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	27.00	\$2,750.00	\$74,250.00	\$3,450.00	\$93,150.00	\$3,650.00	\$98,550.00
606.147	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2)	U	14.00	\$900.00	\$12,600.00	\$800.00	\$11,200.00	\$800.00	\$11,200.00
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	12,612.50	\$19.25	\$242,790.63	\$23.00	\$290,087.50	\$23.00	\$290,087.50
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	14.00	\$1,000.00	\$14,000.00	\$950.00	\$13,300.00	\$950.00	\$13,300.00

					PS&E		USTRIES, INC. TE PARK ROAD NT, NH 03220	BROX INDUSTRIES, INC. 1471 METHUEN STREET DRACUT, MA 01826		
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total	
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	14.00	\$1,000.00	\$14,000.00	\$950.00	\$13,300.00	\$950.00	\$13,300.00	
606.9147	RESETTING TERMINAL UNIT (TYPE G-2)	U	12.00	\$275.00	\$3,300.00	\$250.00	\$3,000.00	\$250.00	\$3,000.00	
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	17,912.50	\$6.80	\$121,805.00	\$8.50	\$152,256.25	\$8.50	\$152,256.25	
608.2401	4" CONCRETE SIDEWALK	SY	15.00	\$100.00	\$1,500.00	\$80.00	\$1,200.00	\$150.00	\$2,250.00	
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	3.60	\$425.00	\$1,530.00	\$450.00	\$1,620.00	\$500.00	\$1,800.00	
609.01	STRAIGHT GRANITE CURB	LF	61.00	\$50.00	\$3,050.00	\$35.00	\$2,135.00	\$40.00	\$2,440.00	
609.02	CURVED GRANITE CURB	LF	78.00	\$40.00	\$3,120.00	\$40.00	\$3,120.00	\$50.00	\$3,900.00	
609.5	RESET GRANITE CURB	LF	72.00	\$20.00	\$1,440.00	\$45.00	\$3,240.00	\$40.00	\$2,880.00	
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	5.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	5.00	\$1,500.00	\$7,500.00	\$1,000.00	\$5,000.00	\$1,000.00	\$5,000.00	
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$12,000.00	\$12,000.00	\$6,000.00	\$6,000.00	\$6,000.00	\$6,000.00	
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	103,000.00	\$1.00	\$103,000.00	\$1.00	\$103,000.00	\$1.00	\$103,000.00	
618.7	FLAGGERS	HR	600.00	\$31.50	\$18,900.00	\$38.00	\$22,800.00	\$38.00	\$22,800.00	
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$150,000.00	\$150,000.00	\$425,000.00	\$425,000.00	\$300,000.00	\$300,000.00	
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$3,300.00	\$19,800.00	\$5,000.00	\$30,000.00	\$3,000.00	\$18,000.00	
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$1,500.00	\$3,000.00	\$3,000.00	\$6,000.00	\$3,000.00	\$6,000.00	
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$2,400.00	\$4,800.00	\$5,000.00	\$10,000.00	\$3,500.00	\$7,000.00	
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$5,000.00	\$10,000.00	\$15,000.00	\$30,000.00	\$25,000.00	\$50,000.00	
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	197.00	\$5.25	\$1,034.25	\$5.00	\$985.00	\$5.00	\$985.00	
621.31	SINGLE DELINEATOR WITH POST	EA	174.00	\$41.00	\$7,134.00	\$50.00	\$8,700.00	\$50.00	\$8,700.00	
621.32	DOUBLE DELINEATOR WITH POST	EA	30.00	\$48.00	\$1,440.00	\$50.00	\$1,500.00	\$55.00	\$1,650.00	
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	524,347.00	\$0.16	\$83,895.52	\$0.16	\$83,895.52	\$0.20	\$104,869.40	
632.01069	SHORT TERM PAVEMENT MARKINGS, 6" LINE	LF	298,981.00	\$0.13	\$38,867.53	\$0.12	\$35,877.72	\$0.12	\$35,877.72	
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	10,656.00	\$0.80	\$8,524.80	\$0.80	\$8,524.80	\$1.00	\$10,656.00	
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	620.00	\$3.50	\$2,170.00	\$4.00	\$2,480.00	\$3.00	\$1,860.00	
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6"	LF	30,757.00	\$1.00	\$30,757.00	\$1.00	\$30,757.00	\$1.00	\$30,757.00	
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12"	LF	18,421.00	\$3.00	\$55,263.00	\$3.25	\$59,868.25	\$3.25	\$59,868.25	
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18"	LF	310.00	\$5.00	\$1,550.00	\$5.00	\$1,550.00	\$5.00	\$1,550.00	
632.32	LINE RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	488.00	\$9.50	\$4,636.00	\$7.00	\$3,416.00	\$7.00	\$3,416.00	
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	68,175.00	\$0.36	\$24,543.00	\$0.35	\$23,861.25	\$0.35	\$23,861.25	
645.531	SILT FENCE	LF	13,432.00	\$2.50	\$33,580.00	\$0.80	\$10,745.60	\$5.00	\$67,160.00	

				PS&E		PIKE INDUSTRIES, INC. 3 EASTGATE PARK ROAD BELMONT, NH 03220		BROX INDUSTRIES, INC. 1471 METHUEN STREET DRACUT, MA 01826	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	Unit Price	Total
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	5,212.00	\$3.00	\$15,636.00	\$0.75	\$3,909.00	\$7.00	\$36,484.00
692.	MOBILIZATION	U	1.00	\$162,605.83	\$162,605.83	\$375,000.00	\$375,000.00	\$365,000.00	\$365,000.00
698.13	FIELD OFFICE TYPE C	MON	8.00	\$1,700.00	\$13,600.00	\$2,200.00	\$17,600.00	\$1,800.00	\$14,400.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	1,200.00	\$1.00	\$1,200.00	\$1.00	\$1,200.00	\$1.00	\$1,200.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	6,071.52	\$1.00	\$6,071.52	\$1.00	\$6,071.52	\$1.00	\$6,071.52
			Totals:		\$4,944,467.93		\$6,009,100.60		\$6,094,536.29
			Alt. Totals:						
			Totals:		\$4,944,467.93		\$6,009,100.60	\$6,094,536.29	



EPPING-EXETER

41790

X-A004(851)

				A-Bide	der	PS8	E	
Item No.	Description	Unit	Quantity	Unit Price	Total	Unit Price	Total	A-PS&E Difference
Items								
202.6	CURB REMOVAL FOR SALVAGE	LF	65.00	\$35.00	\$2,275.00	\$12.00	\$780.00	\$1,495.00
202.7	REMOVAL OF GUARDRAIL	LF	16,495.50	\$3.25	\$53,610.38	\$2.90	\$47,836.95	\$5,773.43
203.5561	EAGRT PLATFORM PREFERRED	U	17.00	\$2,000.00	\$34,000.00	\$1,000.00	\$17,000.00	\$17,000.00
206.1	COMMON STRUCTURE EXCAVATION	CY	6.20	\$550.00	\$3,410.00	\$450.00	\$2,790.00	\$620.00
304.32	CRUSHED GRAVEL FOR SHOULDER LEVELING	TON	655.70	\$40.00	\$26,228.00	\$35.00	\$22,949.50	\$3,278.50
403.11	HOT BITUMINOUS PAVEMENT, MACHINE METHOD	TON	3,144.10	\$125.00	\$393,012.50	\$84.00	\$264,104.40	\$128,908.10
403.11002	HOT BITUMINOUS PAVEMENT, MACHINE METHOD (QC/QA TIER 2)	TON	1,445.60	\$115.00	\$166,244.00	\$84.00	\$121,430.40	\$44,813.60
403.12	HOT BITUMINOUS PAVEMENT, HAND METHOD	TON	6.30	\$250.00	\$1,575.00	\$190.00	\$1,197.00	\$378.00
403.4	MATERIAL TRANSFER VEHICLE (MTV)	TON	21,587.50	\$3.50	\$75,556.25	\$1.30	\$28,063.75	\$47,492.50
403.6	PAVEMENT JOINT ADHESIVE	LF	51,504.00	\$0.24	\$12,360.96	\$0.30	\$15,451.20	(\$3,090.24)
410.22	ASPHALT EMULSION FOR TACK COAT	GAL	2,594.00	\$7.00	\$18,158.00	\$4.50	\$11,673.00	\$6,485.00
410.752	EMULSIFIED ASPHALT FOG SEAL	GAL	20,926.00	\$4.25	\$88,935.50	\$4.25	\$88,935.50	\$0.00
410.753	COVER AGGREGATE	TON	46.20	\$2,000.00	\$92,400.00	\$1,650.00	\$76,230.00	\$16,170.00
413.6	CRACK FILL PRIOR TO THIN LIFT OVERLAY	LB	54,709.00	\$2.10	\$114,888.90	\$2.05	\$112,153.45	\$2,735.45

417.	COLD PLANING BITUMINOUS SURFACES	SY	36,532.00	\$4.00	\$146,128.00	\$2.75	\$100,463.00	\$45,665.00
417.21	MICRO-MILLING BITUMINOUS SURFACES	SY	179,796.00	\$0.95	\$170,806.20	\$1.20	\$215,755.20	(\$44,949.00)
417.54	REMOVE AND INLAY LONGITUDINAL CRACKS	LF	5,280.00	\$11.00	\$58,080.00	\$3.75	\$19,800.00	\$38,280.00
419.13	BONDED WEARING COURSE, TYPE C	TON	17,661.50	\$136.00	\$2,401,964.00	\$127.00	\$2,243,010.50	\$158,953.50
559.41	ASPHALTIC PLUG FOR CRACK CONTROL (F)	LF	172.00	\$115.00	\$19,780.00	\$110.00	\$18,920.00	\$860.00
559.412	REPAIR ASPHALTIC PLUG EXPANSION JOINT (F)	LF	495.00	\$130.00	\$64,350.00	\$123.00	\$60,885.00	\$3,465.00
604.0007	POLYETHYLENE LINER	EA	59.00	\$125.00	\$7,375.00	\$130.00	\$7,670.00	(\$295.00)
604.4	RECONSTRUCTING/ADJUSTING CATCH BASIN & DROP INLET	LF	59.00	\$525.00	\$30,975.00	\$370.00	\$21,830.00	\$9,145.00
606.0001	STEEL BEAM FOR BEAM GUARDRAIL, INCLUDING HARDWARE	LF	875.00	\$12.50	\$10,937.50	\$15.00	\$13,125.00	(\$2,187.50)
606.014	6"X8" WOOD POST REPLACEMENTS FOR BEAM GUARDRAIL POSTS	EA	141.00	\$85.00	\$11,985.00	\$95.00	\$13,395.00	(\$1,410.00)
606.0142	6"X8" WOOD POST ASSEMBLIES FOR BEAM GUARDRAIL POSTS	EA	141.00	\$15.00	\$2,115.00	\$25.00	\$3,525.00	(\$1,410.00)
606.1254	BEAM GUARDRAIL (TERMINAL UNIT TYPE EAGRT, TL 3) (STEEL POST)	U	27.00	\$3,450.00	\$93,150.00	\$2,750.00	\$74,250.00	\$18,900.00
606.147	BEAM GUARDRAIL (TERMINAL UNIT TYPE G-2)	U	14.00	\$800.00	\$11,200.00	\$900.00	\$12,600.00	(\$1,400.00)
606.18001	31" W-BEAM GUARDRAIL WITH 8" OFFSET BLOCK (STEEL POST)	LF	12,612.50	\$23.00	\$290,087.50	\$19.25	\$242,790.63	\$47,296.87
606.34201	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, LEFT (STEEL POST)	U	14.00	\$950.00	\$13,300.00	\$1,000.00	\$14,000.00	(\$700.00)
606.34202	SINGLE FACED ASYMMETRICAL TRANSITION RAIL, RIGHT (STEEL POST)	U	14.00	\$950.00	\$13,300.00	\$1,000.00	\$14,000.00	(\$700.00)
606.9147	RESETTING TERMINAL UNIT (TYPE G-2)	U	12.00	\$250.00	\$3,000.00	\$275.00	\$3,300.00	(\$300.00)
606.915	RESETTING GUARDRAIL, BLOCK AND RAIL ONLY	LF	17,912.50	\$8.50	\$152,256.25	\$6.80	\$121,805.00	\$30,451.25
608.2401	4" CONCRETE SIDEWALK	SY	15.00	\$80.00	\$1,200.00	\$100.00	\$1,500.00	(\$300.00)
608.54	DETECTABLE WARNING DEVICES, CAST IRON	SY	3.60	\$450.00	\$1,620.00	\$425.00	\$1,530.00	\$90.00
609.01	STRAIGHT GRANITE CURB	LF	61.00	\$35.00	\$2,135.00	\$50.00	\$3,050.00	(\$915.00)

609.02	CURVED GRANITE CURB	LF	78.00	\$40.00	\$3,120.00	\$40.00	\$3,120.00	\$0.00
609.5	RESET GRANITE CURB	LF	72.00	\$45.00	\$3,240.00	\$20.00	\$1,440.00	\$1,800.00
616.606	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 6 FT	EA	5.00	\$500.00	\$2,500.00	\$500.00	\$2,500.00	\$0.00
616.650	TRAFFIC SIGNAL DETECTOR LOOP 6 FT X 50 FT	EA	5.00	\$1,000.00	\$5,000.00	\$1,500.00	\$7,500.00	(\$2,500.00)
616.95	INSTALL TRAFFIC STUDY EQUIPMENT	U	1.00	\$6,000.00	\$6,000.00	\$12,000.00	\$12,000.00	(\$6,000.00)
618.61	UNIFORMED OFFICERS WITH VEHICLE	\$	103,000.00	\$1.00	\$103,000.00	\$1.00	\$103,000.00	\$0.00
618.7	FLAGGERS	HR	600.00	\$38.00	\$22,800.00	\$31.50	\$18,900.00	\$3,900.00
619.1	MAINTENANCE OF TRAFFIC	U	1.00	\$425,000.00	\$425,000.00	\$150,000.00	\$150,000.00	\$275,000.00
619.25	PORTABLE CHANGEABLE MESSAGE SIGN	U	6.00	\$5,000.00	\$30,000.00	\$3,300.00	\$19,800.00	\$10,200.00
619.27	TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$3,000.00	\$6,000.00	\$1,500.00	\$3,000.00	\$3,000.00
619.279	AUTOMATED TRAILER-MOUNTED SPEED LIMIT SIGN	U	2.00	\$5,000.00	\$10,000.00	\$2,400.00	\$4,800.00	\$5,200.00
619.63	TRUCK-MOUNTED IMPACT ATTENUATOR, TEST LEVEL 3	U	2.00	\$15,000.00	\$30,000.00	\$5,000.00	\$10,000.00	\$20,000.00
621.2	RETROREFLECTIVE BEAM GUARDRAIL DELINEATOR	EA	197.00	\$5.00	\$985.00	\$5.25	\$1,034.25	(\$49.25)
621.31	SINGLE DELINEATOR WITH POST	EA	174.00	\$50.00	\$8,700.00	\$41.00	\$7,134.00	\$1,566.00
621.32	DOUBLE DELINEATOR WITH POST	EA	30.00	\$50.00	\$1,500.00	\$48.00	\$1,440.00	\$60.00
632.0106	RETROREFLECTIVE PAINT PAVE. MARKING, 6" LINE	LF	524,347.00	\$0.16	\$83,895.52	\$0.16	\$83,895.52	\$0.00
632.01069	SHORT TERM PAVEMENT MARKINGS, 6" LINE	LF	298,981.00	\$0.12	\$35,877.72	\$0.13	\$38,867.53	(\$2,989.81)
632.1104	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 4" LINE	LF	10,656.00	\$0.80	\$8,524.80	\$0.80	\$8,524.80	\$0.00
632.1118	PREFORMED RETROREFLECTIVE TAPE, TYPE I (REMOVABLE) 18" LINE	LF	620.00	\$4.00	\$2,480.00	\$3.50	\$2,170.00	\$310.00
632.3106	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 6" LINE	LF	30,757.00	\$1.00	\$30,757.00	\$1.00	\$30,757.00	\$0.00
632.3112	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 12" LINE	LF	18,421.00	\$3.25	\$59,868.25	\$3.00	\$55,263.00	\$4,605.25
632.3118	RETROREFLECT. THERMOPLAS. PAVE. MARKING, 18" LINE	LF	310.00	\$5.00	\$1,550.00	\$5.00	\$1,550.00	\$0.00

632.32	RETROREFLECT. THERMOPLAS. PAVEMENT MARKING, SYMBOL OR WORD	SF	488.00	\$7.00	\$3,416.00	\$9.50	\$4,636.00	(\$1,220.00)
632.911	OBLITERATE PAVE. MARKING LINE, 12" WIDE & UNDER	LF	68,175.00	\$0.35	\$23,861.25	\$0.36	\$24,543.00	(\$681.75)
645.531	SILT FENCE	LF	13,432.00	\$0.80	\$10,745.60	\$2.50	\$33,580.00	(\$22,834.40)
646.41	TURF ESTABLISHMENT WITH MULCH, TACKIFIERS AND HUMUS	SY	5,212.00	\$0.75	\$3,909.00	\$3.00	\$15,636.00	(\$11,727.00)
692.	MOBILIZATION	U	1.00	\$375,000.00	\$375,000.00	\$162,605.83	\$162,605.83	\$212,394.17
698.13	FIELD OFFICE TYPE C	MON	8.00	\$2,200.00	\$17,600.00	\$1,700.00	\$13,600.00	\$4,000.00
699.	MISCELLANEOUS TEMPORARY EROSION AND SEDIMENT CONTROL	\$	5,000.00	\$1.00	\$5,000.00	\$1.00	\$5,000.00	\$0.00
1006.23	SPECIAL WORK - EXTRACTED AND RECOVERED ASPHALT BINDER TESTING	\$	3,100.00	\$1.00	\$3,100.00	\$1.00	\$3,100.00	\$0.00
1008.251	ALTERATIONS AND ADDITIONS AS NEEDED - TEMPORARY PEDESTRIAN ACCOMMODATIONS	\$	1,200.00	\$1.00	\$1,200.00	\$1.00	\$1,200.00	\$0.00
1010.15	FUEL ADJUSTMENT	\$	40,000.00	\$1.00	\$40,000.00	\$1.00	\$40,000.00	\$0.00
1010.2	ASPHALT CEMENT ADJUSTMENT	\$	50,000.00	\$1.00	\$50,000.00	\$1.00	\$50,000.00	\$0.00
1010.3	QUALITY CONTROL QUALITY ASSURANCE (QC/QA) ASPHALT	\$	6,071.52	\$1.00	\$6,071.52	\$1.00	\$6,071.52	\$0.00

Total:

\$6,009,100.60

\$4,944,467.93 \$1,064,632.67